Possible Solution

Billy won a prize at school. His teacher said that he would have two choices for the prize.
Choice 1: Get $3 for the next 3 days.
Choice 2: Get $2 for the next 5 days.

Which choice would Billy receive more money? Explain your thinking.

Choice 1: Get $3 for the next 3 days.
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3+3+3=9
3 groups of $3 =$9

Choice 2: Get $2 for the next 5 days.
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2+42+2+2+2=10
5 groups of $2 = $10

Which choice would Billy receive more money? Explain your thinking.
Billy would get more money with Choice 2 because that would be $10, and Choice 1 would only
be $9.



